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1. How many hours are there in 1 week and 3 days?

2. Arectangle is 4 cm long and 3 cm breadth. Find the ratio of length to breadth.

3. Find the area of a rectangle if its length is double its breadth if its

perimeter is 24 cm. A B

A

b

M C
D 2b

4. On increasing the salary of a man by 12% , his salary is increased

by 1158 baht. What was his original salary?

5. The sum of three sides of a triangle is 16% cm. If two of these sides

measures 5% cm and 6% cm respectively. Find the length of the third side.
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l

HU2AA
ﬁﬁuauﬁUS‘mﬁﬂﬁﬁﬁwﬁaﬂﬁqmﬁa 10,000
10,000 ~ 41 = 243 Lfiw 37
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2x+5y+107 = 344
2X+5y+10(72—x—y) = 344 WU z MBENnIT (1)

2x+5y+720 - 10x— 10y = 344
—8x—5y=344-720 = -376

&+ 5y = 376

& = 376-5y

X = 47_5_y

8
My =8 ; x = 4 3w z = 22
My = 16; x = 37 3w z = 19
My = 24; x = 32 3w z = 16
My = 32; x = 27 3wl z = 13
My = 40; x = 22 g z = 10
My = 48 ; x = 17 3l z = 7
My = 5 ; x = 12 ald z = 4
My = 64 ; x = 7 e z = 1

fratid 311t sAeddululevianusil 8 35
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Solution
1 week and 3 days = 10 days
1 day = 24 hours
1 week and 3days = 10x24 = 240 hours

Ans. 240 hours

Solution
Ratio of length to breadth =4:3

Ans. 4:3

perimeter is 24 cm.

A B
A
b
v C
D
Solution 2b
2x(b+2b) =24
6b =24
b=24+6=4

A rectangle is 4 cm breadth and 8 cm long.

The area of a rectangle is 4 x 8 =32 cm’

Ans. 32 cm’
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by 1158 baht. What was his original salary?
Solution

Let the original salary = x baht

Increase = 12% of x
12 3x
=—Xji=—
100 25
1158 %25
X=——
3
= 9,650

.. His original salary = 9,650 baht
Ans. 9,650 baht

Solution
Length of the third side

163—51—62 N
5 10 4 5 10 4

[332—114 —ISSJ

20
_332-249
- 20
83
20
_ 43
20

3
Ans. 4% cm
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26.

27.

28.

29.

30.

[ AAUN 1 U 2 UD ALATBT 26 — 27 VAT 2 AZLUY J

18 buckets of water fill a tank when the capacity of each bucket is 9 litres.
How many buckets will be needed to fill the same tank, if the capacity of
the bucket is 13.5 litres?

difference of two numbers is 1365. On dividing the larger number by the

smaller, we get 6 as quotient and 15 as remainder. Find the smaller number.

( AAUN 2 U 2 UD ALATDT 28 — 29 U9aT 3 AZLUU J

Price of 5 chairs and 2 tables is 1350 baht. Two chairs cost as much as one

table. What is the price of one chair and one table?

Mali bought eggs at the rate of 4 for 14 baht and sold them at 48 baht per

dozen. What percentage did he gain or loss?

[ AAUN 3 MUY 1 Vo ABYBYN 30 VoaT 5 ASLUU j

Water flows through a cylindrical pipe of diameter 5 mm at the rate of 10 m
per minute and falls into a conical vessel having 40 cm as the diameter of

its base and 24 cm as its height. How long will it take to fill the vessel?
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26. 18 buckets of water fill a tank when the capacity of each bucket is 9 litres.
How many buckets will be needed to fill the same tank, if the capacity of
the bucket is 13.5 litres?

Solution
Capacity of the tank = (18x9) litres = 162 litres

Required number of buckets = 162 162xi =12
13.5 27

Ans. 12 buckets

smaller, we get 6 as quotient and 15 as remainder. Find the smaller number.
Solution
Let the smaller number be x

Then, Larger number — 1365

S6x+15=x+1365
5x =1350
x=270
- Smaller number = 270

Ans. 270
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Solution

2 chairs =1 table
4 chairs =2 tables

9 chairs cost 1,350 baht
. 1,350
1 chair cost =5 = 150 baht

1 table cost 300 baht
Cost of (1 chair + 1 table) = 150 + 300 = 450 baht

Ans. 450 baht

at percentage e gain or loss?
Solution

Here, cost price of 4 eggs = 14 baht

Cost price of 1 egg = 14—4 baht 3.50 baht
Again, selling price of 12 eggs = 48 baht

Selling price of 1 egg = ‘% baht = 4 baht

Now, actual profit = (Selling price) — (Cost price) = 4 baht -3.50 baht = 0.5 baht

Actualprofit 0.5 100

. 2
We have, profit percent = x 100% = EX 100% = — % = 147%

Cost Price

So, his profit percent was 14%%

Ans. 14%% Gain
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[ MaUN 3 31U 1 Vo ABTDN 30 VoaT 5 AZLUU ]

its base and 24 cm as its height. How long will it take to fill the vessel?

Solution

Volume of water flown in 1 min { (

j x (10 100)}

Volume of conical vessel =

Let the vessel be filled in r min. Then,

1257 = 32007
= G0 = 259 min=>51 min 12sec
125 5

Ans. 51 min 12 sec
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34. The class, the number of boys is more than the number of girls by 12% of the total
strength. What is the ratio of boys to girls ?

35. In a triangle ABC. IFAB =27 cm, AC=29 cm, AD is a median meeting
BCat D and AD =26 cm. Find the area of triangle.

36. Atrain overtakes two persons who are walking in the same direction in which the
train is going, at the rate of 2 kmph and 4 kmph and passes them completely

in 9 and 10 seconds respectively. How long of the train (in meters) ?

37. The mean of 40 numbers was found to be 38. Later on, it was detected

that a number 56 was misread as 36. Find the correct mean of the given

numbers. (Answer in two decimal places)

38. A well with 14 m inside diameter is dug 8 m deep. The earth taken out
of it has been evenly spread all around it to a width of 21 m to form
an embankment. Find the height of the embankment. (Answer in cm, one

decimal place)
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WUNYDN ACOD = 5><4><4= 8 AT WY USILUNT

'
a0

NUNFIULS LI NNAY g+(2x%xﬂ42)
360

8+ 2)(%)(167[} AT IGURALUG S
8+ (4n)

= 8+4r

fBU 8+ 47 ANTIUTURLNAT %30 47 + 8 AT INIUALUAT
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LUIAR

A B
AABC- ADEF
wuseus AABC AB BC AC

30 12
20 DE
DE = 8
2XBC 2XAC  2X(18—BC)
EF = , DF = =
3 3 3
2xBC 2xAC
AB | BC | AC=18-BC | DE JElF = 3 DF = 3 EF+DF =12
12 | 1 17 g | Tiudruwdy | lidusuwsu
12| 3 15 8 2 10 EF + DE = DF
12| 6 12 8 4 8 12
129 9 8 6 6 12
12|12 6 8 8 4 12
12 15 3 8 10 2 DF + DE = EF
12 | 17 1 g | laduduudy | Tudusuudy

nau 3 §u
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645373 .12510744 — (26)5373.(53)10744
232238 _532232
— 26 (232232 .532232)
= 25.10722
At 107 Wiy 8 1 egnilesa uagd 0 8n 32232 M

dwmsu 2° 64 TaUlAR 6 Wy 4
26,1022 — 64000...0

1 32232 ¢
" NAUINVBRAVAAYINAU 6 +4+0=10

fau 10

(MU ULAYAIUBYIIAN)

WuIAn 1
0 kb = a’(b+2) - 24b
a+b
B a’b—24b+2a’
b+a
b(a*-24)+2a’
- b+a

Farsane a I b(a® —24)+2a> aglusy k(b+a) dlo k Jurash

b(5°—24) + 2(5%)
b+5

b +50

b+5

a=5; 5*b =
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12(b+6)
b+6
= 12

A9t L0 6 (7% (8% (.. *(2555%2556)...))) = 12

535 (6% (7 # (8 (...%(2555%2556)...)))) 5%12
5°(12+2)-24x12
5+12
350-288
17

62
17

_ 3l
17

WUIAR 2 )
W a=6 uaz b="7x(8+..%(2555%2556)..)
2 —_—
b =6%b _ 6(b+2)—24b
6+ b
36b+ 72- 24b
6+ b
12b+ 72
6+b
12(b+ 6)
6+5b
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_5°(12+2)-24(12)

5%12
5+12

_25(14)-24(12)
- 17
_350-288
17
&2
17
11
17

A9y 3E

17
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strength. What is the ratio of boys to girls ?

Solution
Let the number of boys and girls be x and y respectively

Then
(x—=y)=12% of (x+y)

3x+y
(x—y)=—(25 )
25x—-25y =3x+3y
22x =28y
Soxiy=28:22
=14:11

Ans. 14 : 11
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“En 118

Solution
A
Draw AD to point E and AD=DE
- 2 and draw BE
26 AADC=AEDB
EB = AC =29
| |
B ' D ' C DE = DA = 26
AE =52
29
E
Area of AABE = Area of AABC = [s(s—a)s—b)s—c)=~/54x25x2x27
= 270
Ans. 270 cm 2

in 9 and 10 seconds respectively. How long of the train (in meters) ?

Solution

Let the length of train be x km & its speed be y km/hr.

Then . 2 and L e
y—2  60x60 y—4 60 x 60
9y —-3600x = 18and 10y-3600x = 40
y—400x = 2 y—-360x = 4
S40x =2 or = [E xlOOO} m=50 m
40

Ans. 50 m
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numbers. (Answer in two decimal places)

Solution

Calculated mean of 40 numbers 38

Calculated sum of these numbers = 38 x40
= 1520

Correct sum of these numbers = [1520 - (wrong item) + (correct item) ]
= (1520-36+56)
= 1540

The correct mean = 1540
40

= 38.50

Ans. 38.50

Find the height of the embankment. (Answer in cm, one decimal place)

Solution

Volume of earth dug out (%x7x7><8) =1232 m’

Area of embankment = n(R*-r1?)
22
= —x[es-0r]

2—2x35><21
7

= 2310 m’

1232
2310

53.3 cm

Height of embankment

% 100) cm

Ans. 53.3cm
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R51uanUasuRuAT) neaa1sanss : neIu
& 6.25
g3 6.28
n. 5550 %. 5652 A. 6275 3. 7500 9. 10000

2. dormdnaanad dolandnignsios
A, navINvessIuRraes Iy uIud
2. mamﬂéuENf{]”lmuﬁmﬁaf\i’wu'suﬁuﬁﬂu’su@uﬁqaﬁ’muL‘T;Juai"]muﬁj
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23. ABC WugUanuwdsasuain i ACB Wuyuain AB=45 wufiluns Way BC =36 iwuRiuns
90 D.E 8guu AC 1% AD : DE: EC=3:4:2 EG// BC éin AB 71 G DI/ AB
fin GE 71 P wagsin BC 711 HF // AC san P éin AB way BC 7190 F Wag H Auadi
Fa5U asmmaTINvesufid Ui

[ MU 3 Yadl 24 — 28 LUULANAINDU A1UIU 5 99 VDAY 8 ATLUU 9U 40 AZLUY ]

24. We ate three burgers and left a tip of twenty-three baht for the waiter.

If we spent a total of two hundred baht, find the cost of a burger.

25. A cuboidal tea packet measures 10 cm by 6 cm by 4 cm. How many such
tea packets can be placed in a card box of dimensions 50 cm by 30 cm by

02m?

26. If ,22=2x2,(2%)'=2°2"x2"=2""=2", A=436, B=(25",C=9",D=(49)"
and E=(11)* and arrange the numbers A,B,C,D and E from the largest

to the smallest.

27. In an examination, a student has to secure 45% marks to pass the exam.
If Pramote got 251 marks and failed by 19 marks, what are the maximum

marks ?
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28. The digits 1, 2, 3,4, 5,6,7, 8 and 9 are to be written in the squares so
that every row and every column with three numbers has a total of 13.
Two numbers have already been entered. What is the number in the square

marked * ?
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If we spent a total of two hundred baht, find the cost of a burger.

Solution
Let the cost of burger = a

From the problem ;

3a+23=200
3a=200-23=177
a=177+3=59
.. Cost of burger 59 baht.
Ans. 59 baht.
02m?
Solution
Volume of tea packet = Ixbxn
= 10x6x4cm’
Volume of a card box = Ixbxh

= 50x30x20cm’

50x30x20

Number of packet can be placed =
10x6x4

= 5Xx5Xx5 packets
Ans. 125 packets
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to the smallest.

Solution
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Ans. E>B>D>C>A

marks ?

Solution
Let the maximum marks = a

Passing marks = 45% of a

45

=100 "

_9a
20

According to question,

9a
== =251+19=
20 251+19=270
270%20
a=—yp =600

.. Maximum marks = 600

Ans. 600 marks
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Solution.

Let the numbers at the three corner squares be m, n and p
as shown in the diagram below on the left. When we add the three
numbers in each line, we count each of the digits 1, 2, ..., 9 once except
for m, n and p, which are counted twice. Now the sum of the four
lines is 52, while the sum of the nine digits is 45. Hence m+n+p=7.
If m=4, then the sum of the line with 9 will exceed 13. If p=4, then the
third number of the line with 5 is another 4. Hence we must have n=4.
It is easy to complete the diagram below on the right, which is the

unique construction.

9 9
3
m n 1|18 | 4
7
p 5 2|65

Ans. 4
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